19.000 [482.60]

18.250 [463.55]

20122234

WIRING SCHEMATIC (USOC)

1.250

[31.75] TELCO RITI

} PO o
’7:bo<::‘
2 3

Jz

1.860 MAX.
[47.24]

Ei:‘i}{fﬂ’??’iﬂ??ﬂm‘?’???ﬂ'

S

25 - NOT USED
50 = NOT USED

WIRES NOT SHOWN

49 4
2a L o<1 5 J24

val

PARTS LIST A MATERIAL: PANEL-.125 ALUMINUM, BLACK POWDER COAT

JL%M .?ES‘, PART NO. DESCRIPTION MODULAR JACKS— BLACK ABS 94V-0 RATED.

1 1 AMP—229975-1 | 50 PIN FEMALE TELCO CONMECTOR, (AMP) #‘Efgo Bg;fg;g;_ Béﬁ:gK A.ESOET;EBO SFTaEEELD-

2 |24 647B2-8 MODULAR JACK, & POS 2 CONTACTS , 8" LEADS SCREWS— BLACK OXIDE CARBON STEEL.

31 MD77 VELCRO STRAP NUTS— ZINC PLATED CARBON STEEL.

4 | 2 TE-50SR STRAIN RELIEF FOR 50 POS. TELCO CHAMP CONNECTOR- BLACK THERMOPLASTIC.

5 |1 PF24N1758 PANEL FACE 1.750" X 18.000" /2 FOUR BLACK 10-32 X .500 LONG SCREWS FOR MOUNTING

6 | 2 HDB12P JACK BRACKET SHIPPED LOOSE NOT SHOWN ON DRAWING.

7 1 MD77X HIGH DENSITY VELCRO HOLDER A EACH PANEL IS INDIVIDUALLY BAGGED IN A CLEAR

8 | 4 |N440-1000-STCP | #4-40 THREADED STAND-OFF, 1.000 INCH LONG POLY TUBING, 22" X 6" X 4 MIL.

9 |16 | S440-0500-FLHX | #4-40 COUNTERSUNK SCREW, 1/2 INCH LONG & EACH PANEL IS INDIVIDUALLY PACKAGED IN A WHITE

10 6 |[S5440-0437-BUHX | #4-40 BUTTON HEAD SCREW, 7/16 INCH LONG BOX, 20 1/4" X 3 1/2" X 3"

11 | 14 [N44D-0D250—HXPN | #4-40 X 1/4 INCH HEX NUT = (P)('JJEY STlll-.ll(lgljilGPMK ek

12 | 1 UL-LIST UL LISTED LABEL, 1.420" X .550" )

13 | 4 |S1032-0500-FWPH| #10-32 THREAD X 1/2 INCH, FLAT WASHER-PHILLIP SCREW /\ 6. ALL DIMENSIONS ARE APPROXIMATE & USED FOR REFERENCE ONLY.
14 1 PT-6 CLEAR POLY TUBING A\| 7. DIMENSIONS IN BRACKETS ARE IN MILLIMETERS.

15 | 1 CB-3198 PACKAGING BOX A

16 | 1 SPG—1 SILICA PACK A

DWG NO REV: [ DRAWN DATE APRVD DATE

74 PORT. TEWALE. 6P2C (USOC) s 1100 0. PHaM | 6/24/2008




